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According to the LS [1] from RAN1 on the simultaneous reception of SI-RNTI PDSCH and C-RNTI PDSCH, RAN1 made the following agreements:
	Working assumption:
· While UE acquires SI upon being triggered by Paging DCI
· UE is not required to decode C-RNTI PDSCH if the SI-RNTI PDSCH is overlapped with at least one symbol
· In case UE autonomously monitors SI-RNTI PDCCH while monitoring C-RNTI PDCCH, and both SI-RNTI PDSCH and C-RNTI PDSCH are overlapped with at least one symbol, the UE is not required to decode SI-RNTI PDSCH
· The first two bullets apply unless TBS of SI-RNTI PDSCH ≤ 2216 for FR1, then UE decodes both SI-RNTI PDSCH and C-RNTI PDSCH
· The first two bullets always apply in FR2



In the RAN2#101bis meeting, the potential RAN2 impacts are discussed, and RAN2 achieved the following consensus [2]:
	=>	SI reception for in dedicated for FR2 (e.g. for ETWS case) can be considered further at the next meeting


In this contribution, we discuss the detailed RAN2 impacts on the simultaneous reception of SI-RNTI PDSCH and C-RNTI PDSCH
Discussion
Selection of SI-RNTI reception or C-RNTI reception
According to the current 38.331, the NR CONNECTED UE could receive the SI-RNTI in the following cases:
· SIB1 after handover
· SIBs for ETWS/CMAS
· SIB1 or SIBs for ETWS/CMAS after the reception of the SI change indication in paging
From any of the above listed cases, the network is not able to know when the UE will start the reception of SI-RNTI PDSCH. According the 38.331, once the UE successful received the corresponding SIB(s), the UE stops the reception of the SIB(s).
Observation 1: The gNB cannot know when the UE starts/stops the SI-RNTI PDSCH reception.
Due to the beam sweeping, the gNB may repeat the transmission of the same SIB. This will cause more collision of the SI-RNTI PDSCH and C-RNTI PDSCH. If the gNB transmits SI-RNTI PDSCH and C-RNTI PDSCH in a TDM manner, then both SI-RNTI and C-RNTI reception can be successful. However this may cause the reception delay of the URLLC service or the ETWS/CMAS information which may not be acceptable for the UE.
Observation 2: Transmitting SI-RNTI PDSCH and C-RNTI PDSCH always in a TDM manner may cause the reception delay of the URLLC service or the ETWS/CMAS information which may not be acceptable for the UE.
As the UE will stops the SI-RNTI PDSCH reception after the successful decoding the SI-RNTI PDSCH, the transmission loss would be only one TB of either SI-RNTI PDSCH or C-RNTI PDSCH for the successful reception of SI-RNTI PDSCH. If the specification asks the UE to always prioritize the reception of SI-RNTI, the failed decoding of SI-RNTI PDSCH will cause more loss of C-RNTI PDSCH. However whether SI-RNTI PDSCH or C-RNTI PDSCH is more important is only known by the UE. For example, some URLLC service could be more important than one SI-RNTI PDSCH reception. The ETWS/CMAS reception could also be more important than the eMBB service. And some URLLC service could also be more delay-sensitive than the SIB1. 
Observation 3: Only one TB is loss for the successful reception of SI-RNTI PDSCH, as the UE stops the SI-RNTI PDSCH reception after the successful decoding.
Observation 4: If the specification asks the UE to always prioritize the reception of SI-RNTI, the failed decoding of SI-RNTI PDSCH will cause more loss of C-RNTI PDSCH, as the UE will keep trying the decoding of the SIB(s). This may cause a long delay for the data reception of URLLC service.
Observation 5:  Only the UE knows whether a C-RNTI PDSCH or a SI-RNT PDSCH is more important.
According to the analysis given above, we consider that the prioritization between SI-RNTI PDSCH and C-RNTI PDSCH should be left to the UE implementation.
Proposal 1: The prioritization between SI-RNTI PDSCH and C-RNTI PDSCH is left to the UE implementation.
If Proposal 1 is not agreed, we think the UE should reports its prioritized service/SIB to the network. Then the network can decide whether to delay the scheduling of a de-prioritized service/SIB.
Proposal 2: If Proposal 1 is not agreed, the prioritized service/SIB should be reported by the UE.

Conclusion
According to the analysis given above, we have the following Observations and Proposals.
Observation 1: The gNB cannot know when the UE starts/stops the SI-RNTI PDSCH reception.
Observation 2: Transmitting SI-RNTI PDSCH and C-RNTI PDSCH always in a TDM manner may cause the reception delay of the URLLC service or the ETWS/CMAS information which may not be acceptable for the UE.
Observation 3: Only one TB is loss for the successful reception of SI-RNTI PDSCH, as the UE stops the SI-RNTI PDSCH reception after the successful decoding.
Observation 4: If the specification asks the UE to always prioritize the reception of SI-RNTI, the failed decoding of SI-RNTI PDSCH will cause more loss of C-RNTI PDSCH, as the UE will keep trying the decoding of the SIB(s). This may cause a long delay for the data reception of URLLC service.
Observation 5:  Only the UE knows whether a C-RNTI PDSCH or a SI-RNT PDSCH is more important.

Proposal 1: The prioritization between SI-RNTI PDSCH and C-RNTI PDSCH is left to the UE implementation.
Proposal 2: If Proposal 1 is not agreed, the prioritized service/SIB should be reported by the UE.
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